Multiply by Positive Powers of Ten (A)

Find each product.

21 x 101 = 88 x 101 =
43 x 10t = 25 x 103 =
26 X 10 = 90 x 10% =
71 x 102 = 78 x 10 =
4 x10° = 10 x 10 =
50 x 10% = 37 x 10* =
68 x 10 = 33 x 10t =
90 x 10% = 43 x 10% =
54 x 10t = 45 x 10 =
11 x 10t = 66 x 10% =
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Multiply by Positive Powers of Ten (A) Answers

Find each product.

21 x10'=210 88 x 10* = 880
43 x 101 =430 25 x 10° = 25.000
26 X 10* =260 90 x 10> =9.000
71 x 10%> = 7.100 78 x 10* = 780

4 x10%=4.000 10 x 10* =100
50 x 10°> =50.000 37 x 10* =370
68 x 10' = 680 33 x 10' =330
90 x 10* =9.000 43 x 10%* = 4.300
54 x 10' = 540 45 x 10' = 450
11 x 10 =110 66 X 10% = 6.600
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